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Subject : Economics 
Course: ECON2021 (Minor) 

(Basic Macroeconomics) 

1. Answer any ten questions: 

The figures in the righ1 hand margin indicate full marks. 
Candidates are required to give their answers in their own words 

as far as practicable. 

(a) What is disposable income? 

Ab) Distinguish between GNP and NNP. 

GNP 8 NNP-ã NI 

(e What is M1 and M3? 

MI qR M3 ? 

AI 

(dy What do you mean by inflationary gap? 

(e) What does the IS curve represent? 

IS GARI 41 A? 

(f)_State Say's law of market. 

g) State the different functions of money. 
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(h)Define demand-pull inflation. 
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(i) What is Induced Investment? 

() What is derivative deposit to a commercial bank? 

k Define MPC and APC. 

MPC 4R APC ARaNS TA| 

() What is the Investment Multiplier? 

(2) 

(m) What do you mean by velocity of circulation of Money? 

What is transaction demand for money? 

State two functions of commercial bank. 

2. Answer any four questions: 

a) State the important characteristics of Keynesian consumption function. 

(b) What is liquidity trap? Why is monetary policy completety ineffective in this situation? 

Sx4=20 

(c) Write a short note on the concept of circular flow of inconme. What is meant by leakage 
from the circular flow of income? 

(d) Discuss Cambridge Version of the Quantity Theory of Money. 

VIeV13. ueen Smit 
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(3) 

le) Explain the major differences between a Central Bank and Commercial Banks. 

() On the basis of money market equilibrium condition, draw an LM curve. 

3. Answer any two questions: 
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(a) Discuss, in brief, the Quantitative Methods of Credit Control of a Central Bank. 

(c) Discuss briefly the Anti-inflationary Monetary and Fiscal policies. 

10×2=20 

(b) Show how equilibrium national income is determined in Simple Keynesian Model. 

Kd) Discuss any two methods of measuring national income in an economy. What are the problems in measuring national income? 
8+2 


